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@d(1,=8x-5 Q r[*t =/z<,f - 2

c) {crt = - 2.2.(zr -3)-3 = #
d) &*r= q(z-d-a + ttc*t = -,('\'('a)'(2-r)-z = #
e) tt", = o

d (ut = *- a = i.(-r -a ä €'ks=-.!,9'4'2 = -+

X) {ut= Z'(tcz'f,)-t+ tlrt a -2'2*'(22't1-' = ffi
ln) {ra = !,t*'zl-z + {'rd = -L'!'n' (,<-z)-3 = ;fru.
i) {tw = Zx.cat($"-3)

i) tor=zx-*"* +lut =2-* = #
k)1u|=(x2-3x+z)4+fl,l=Q*-g).t.kz-j*+2J-t=ffi

@

l) lt*t - lx + {xa -Jr'z + (Lt = t - tx'z +cx^3 =

^) 
(tu1= -L'Fa)'tL(l-x) = z't(L(s-x)

n) (*l = (*-x+s)-^.\e + {tttt= ftz-x+l)''t

o) {;e-he l")

p) (ut = 2. (xi)-a = 2' x-4 + +te, = -t z'r-? = #
q) (.rt= x- 9.x-a 4 (lcrt e y'a 8.y-3 = #
r) ful= 'l(.(x"-x+3)-n ä (tkr= -,t.'rt'(zx-a)'kz-x+g)-2

= '(tahx-a)

Zxs-x+te
3f

+
=- r. - r+3

(yt - x +S)L
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V)
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(al = Z',fä^''(sr) + fLt- -a,z's'c.s(sri'lä-2(k) =

lut = x2- 2+4.x-a + (t*l = Zx - 't,x'z = Z* - *

- C.cer (a)
(c.Lßill

a) ho=s-* + ttn ^*
6) kn=W=x-i + (tcxr=a

c) (ut= if*-* = 4- fr + /t,t= #*
d)tut= #-*?=4-# + (',,,= &
e) fr,r= #=#=#*#= 4+#

(tc^t^#
t) (*!tZx.+ z) c (,c*a) = x*a +* I (c*>= x+.t -#

-(xz + x)
---T+2-(x + a) *(tc*t-- 4-#
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